a) Present value of binding commitments of network users for contracting capacity

(i) Sum of the respective estimated reference prices and a potential auction premium and a potential mandatory minimum
premium multiplied by the amount of contracted incremental capacity

(please only fill out the yellow fields in columns C, F and G, please delete values in grey fields in columns C, F and G)

Amount of contracted incremental
capacity

Sum of estimated reference prices and a potential
auction premium and a potential mandatory minimum
premium

Result

(i) Sum of a potential auction premium and a potential mandatory minimum premium multiplied by the amount of available
capacity that was contracted in combination with the incremental capacity

(please only fill out the vellow fields in columns L, N and O, please delete values in arey fields in columns L, N and O)

Amount of available capacity that was Sum of potential auction premium Result
contracted in combination with the and potential mandatory minimum
incremental capacity premium

Present value related to the year
2019

373.895.183.07

Overall result

b) Present value of the estimated increase in the allowed revenue of the TSO associated with
capacity included in the respective offer level

the

c) f-factor

[Resuit: by x o)

[Economic test

passed?

f-factor

Result

Passed?

[Present value related to the year
2019

[ 495 579.471,70

0.75

Amount of contracted incremental Reference prices |Auction Minimum premium
capacity in kWh/h/a in €/kWh/h/a premium in in €/kWh/h/a
€/kWh/h/a

659.564

Resultin €

4.723.85

.297.819

618.08

.276.509

786.10

.276.509

786.10

.276.509

786.10

.337.382

.520.000

.520.000

.520.000

.520.000

.520.000

.520.000

.520.000

.520.000

.520.000

.957.248.00

.140.000

33.717.936.00

Amount of available capacity that was Auction
contracted in combination with the
incremental capacity in KWh/h/a

Minimum premium Resultin €
in €kWh/h/a

.435.071.87|

Overall result Present values related to year of
binding capacity request in €

4.147.898.30

Overall costs per year
in€

Present values related to year of binding
capacity request in €

115.292.44

.353.184.93

.302.089.77

.002.645.31

.703.200.85

.610.715.72

1
1
2
2
2
2

24.399.571.86 |

.932.149.24

31.802.391.73

632.704.77

5. 47
4.836.038.01

4.536.593.55

.550.885.94

.192.651.99

.893.207.53

.593.763.07

.294.318.61

.420.312.76_|
.794.492.1
.194.167.59

.994.874.15

.695.429.69

.395.985.23

.096.540.77

.797.096.31

101.768.96

.626.495.50
.089.729.45

.582.215.23
.102.386.00
.648.757.71
.609.76
.304.93
.072.98
.909.93
.812.03

.775.71

.797.61

.874.52
.003.44 |
1815
406,

674

Worksheet f-
factor is
suggestion;
alternatively
please delete,
enter own value
and reasoning

371.684.603.77

JA




Suggested calculation of the f-factor from Article 23(1) NC CAM

i) Income from incremental capacity after the period of binding capacity requests and income from incremental capacity which is set aside
(please only fill out the yellow and red fields in columns C and F, values in grey fields in columns C and F must be 0)

Explanation: Income after the period of binding capacity requests are vellow, income from set aside capacity red

Amount of incremental capacity
likely to be sold after the period of
binding capacity request/from the
set aside capacity

i) Income from auction proceeds for existing capacity which was contracted in combination with the incremental capacity
after the period of binding capacity requests
(please only fill out the yellow fields in columns L and N, values in grey fields in columns L and N must be 0)

Present value related to the vear
2019

Suggested f-factor

Present value from charges from binding Present value from later charges and set Total present value related to the
capacity requests related to the year

aside capacity related to the year year
[ 2019 [

2019 2019

[ 126.574.775.45

373.895.183.07 ] [ 12657477545 ] | 500.469.958.52

Amount of incremental capacity
likely to be sold in kWh/h/a

in €/kWh/h/a premium in in €/kWh/h/a
€/kWh/h/a

sold in kWh/h/a premium in in €/kWh/h/a
€/kWh/h/a

Sum of estimated reference prices and a potential Result Amount of existing capacity likely to be Potential auction Result Overall result
M auction premium _ sold after the period of binding capacity M premium _
- requests -
Reference prices |Auction Minimum premium Result in € Amount of existing capacity likely to be Auction Minimum premium Resultin € Present values related to year of

binding capacity request in €

=> Vorschlag f-Faktor aus Art. 23 NC | |

CAM (1) @), c)und d) : 0’75|

Result suggestion for f-factor from (a), (c) and (d) Present value from charges from binding capacity requests/Sum of present values from
binding capacity requests and present value of revenue after the period of binding capacity requests and present value of income from
the capacity set aside

Adjustment factor for Article 23(1)(b) NC CAM [ 1]
Explanation: must be estimated and justified by network operator

2025 X 3,6524 0,00 0,00
2026 X 3,6524 0,00 0,00
2027 X 3,6524 = 0,00 0,00
2028 X 3,6524 0,00 0,00
2029 X 3,6524 0,00 0,00
2030 595.000 X 3,6524 = 2.173.178.00 1.274.301.87
2031 1380.000 X 3,6524 8.692.712,00 4.855.763,15
2032 .380.000 X 3,6524 8.692.712.00 4.625.755.55
2033 .380.000 X 3,6524 = 8.692.712,00 4.406.642,94
2034 .380.000 X 3,6524 8.692.712.00 4.197.909.25
2035 .380.000 X 3,6524 8.692.712,00 3.999.062,85
2036 .380.000 X 3,6524 = 8.692.712.00 3.809.635.39
2037 .380.000 X 3,6524 8.692.712,00 629.180,73
2038 .380.000 X 3,6524 8.692.712.00 3.457.273.84
2039 380.000 X 3,6524 = 8.692.712,00 3.293.500,83
2040 4,016.250 X 3,6524 14.668.951.50 5.294.536.29
2041 8.925.000 X 3,6524 32.507.670,00 2041 x = 0 11.208.321,99
2042 8.925.000 X 3,6524 32.597.670.00 2042 x = 0 10.677.406.63
2043 8.925.000 X 3,6524 32.597.670,00 2043 X = 0 10.171.639,65
2044 8.925.000 x 3.6524 32.597.670.00 2044 x = 0 9.689.829.82
2045 8.925.000 X 3,6524 32.597.670.00 2045 x = 0 9.230.842.34
2046 8.925.000 X 3.6524 32.597.670.00 2046 x = 0 8.793.506.16
2047 8.925.000 X 3,6524 32.597.670.00 2047 x = 0 ] 8.377.061.44
2048 8.925.000 X 3.6524 32.597.670.00 2048 x = 0 ] 7.980.257.12
2049 8.925.000 X 3,6524 32.597.670.00 2049 x = 0 ] 7.602.248.61
2050 0 X 3.6524 0.00 2050 x = 0 0.00 0.00
2051 0 X 3,6524 0,00 2051 x = 0 0,00 0,00
2052 0 X 3.6524 0.00 2052 x = 0 0.00 0.00
2053 0 X 3,6524 0,00 2053 x = 0 0,00 0,00
2054 0 X 3.6524 0.00 2054 x = 0 0.00 0.00
2055 0 X 3,6524 0,00 2055 x = 0 0,00 0,00
2056 0 X 3.6524 0.00 2056 x = 0 0.00 0.00
2057 0 X 3,6524 0,00 2057 x = 0 0,00 0,00
2058 0 X 3.6524 0.00 2058 x = 0 0.00 0.00
2059 0 X 3,6524 0,00 2059 x = 0 0,00 0,00
2060 0 X 3.6524 0.00 2060 x = 0 0.00 0.00
2061 0 X 3,6524 = 0,00 2061 x = 0 0,00 0,00
2062 0 X 3.6524 0.00 2062 x = 0 0.00 0.00
2063 0 X 3,6524 0,00 2063 x = 0 0,00 0,00
2064 0 X 3.6524 = 0.00 2064 x = 0 0.00 0.00
2065 0 X 3,6524 0,00 2065 x = 0 0,00 0,00
2066 0 X 3.6524 0.00 2066 x = 0 0.00 0.00
2067 0 X 3,6524 = 0,00 2067 x = 0 0,00 0,00
2068 0 X 3.6524 0.00 2068 x = 0 0.00 0.00
2069 0 X 3,6524 0,00 2069 x = 0 0,00 0,00
2070 0 X 3.6524 = 0.00 2070 x = 0 0.00 0.00
2071 0 X 3,6524 0,00 2071 x = 0 0,00 0,00
2072 0 X 3,6524 0,00 2072 x = 0 0,00 0,00
2073 0 x 3,6524 = 0,00 2073 x = 0 0,00 0,00
2074 0 X 3,6524 0,00 2074 x = 0 0,00 0,00
2075 0 x 3,6524 0,00 2075 x = 0 0,00 0,00
2076 0 X 3,6524 = 0,00 2076 x = 0 0,00 0,00
2077 0 x 3,6524 0,00 2077 x = 0 0.00 0,00
2078 0 X 3,6524 0,00 2078 x = 0 0,00 0,00
2079 0 x 3,6524 0,00 2079 x = 0 0,00 0,00
2080 0 X 3,6524 0,00 2080 x = 0 0,00 0,00
2081 0 x 3,6524 0,00 2081 x = 0 0,00 0,00
2082 0 X 3,6524 0,00 2082 x = 0 0,00 0,00
2083 0 x 3,6524 0,00 2083 x = 0 0,00 0,00
2084 0 X 3,6524 0,00 2084 x = 0 0,00 0,00
2085 0 x 3,6524 0,00 2085 x = 0 0,00 0,00
2086 0 X 3,6524 0,00 2086 x = 0 0,00 0,00
2087 0 x 3,6524 0,00 2087 x = 0 0.00 0,00
2088 0 X 3,6524 0,00 2088 x = 0 0,00 0,00
2089 0 x 3,6524 0,00 2089 x = 0 0,00 0,00
2090 0 X 3,6524 0,00 2090 x = 0 0,00 0,00
2001 0 x 3,6524 0,00 2001 x = 0 0,00 0,00
2002 0 X 3,6524 0,00 2002 x = 0 0,00 0,00
2093 0 x 3,6524 0,00 2093 x = 0 0,00 0,00
2094 0 X 3,6524 0,00 2004 x = 0 0,00 0,00
2095 0 x 3,6524 = 0,00 2095 x = 0 0,00 0,00
2096 0 X 3,6524 0,00 2096 x = 0 0,00 0,00
2097 0 x 3,6524 0,00 2097 x = 0 0,00 0,00
2008 0 X 3,6524 = 0,00 2098 x = 0 0,00 0,00
2099 0 X 3,6524 0,00 2099 x = 0 0.00 0,00
2100 0 X 3,6524 = 0,00 2100 X = 0 0,00 0,00

|Suggested ffactor | [ 0,75]




